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M:What kind of father am 1?7 My only son almost died and | didn’t even know he was ill.
W:Don’t blame yourself. You were too husy to pay attention to him. If his mother were still alive, things would have been much
better.
Q:Why does the man blame himself?
A)His only son is dying. B)His mother died some time ago.
C)He didnt look after his sick wife. D)He hasn’t taken good care of his son.
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M:Isn’t that a new brand of typewriter you are working at?

W:Oh, Bill. This isn’ t the first time you’ ve asked about it.

Q:What does the woman imply?

A)The man is a forgetful person.

B) The typewriter is not new.

C)The man can have the typewriter later.

D)The man misunderstood her.
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1. Don’t worry for my illness; what I need is nothing but a few days’ rest. NE R AYHHL, D ERIMEE LK ST
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The white pages list people with phones by last name. The blue pages contain numbers of city services , govemment agencies,
and public schools. Businesses and professional services are listed in a special section - the Yellow Pages.

To make a long distance call, you need an area code. Each area in the U.S.has an area code. The area covered by one area
code may be small or large. For example, New York City has one area code, but so does the whole state of Oregon. If you want to
know the area code of a place, you can look it up in the area code map which is printed in the front of the white pages.

There are a lot of public telephones in the U.S. They have their own numbers. If you are making a long distaince call on a
public telephone and run out of money, give the number on your phone to the person you’ re talking to. Then hang up the receiver
and he can call you back. If vou make a long distance call and get a wrong number. call the operator and explain what happened.
This means that you can make the call again to the right number without having to pay more money .

Questions 14 to 16 are based on the passage you have just heard.
14. Where can vou find the telephene number of a city council in the telephone book?

A)lIn the white pages. B)In the blue pages.
C)In the yellow pages. D)In a special section.
15. Where can you find an area code map of the U.S.”
A) On the first page of the telephone book . B) At the end of the telephone book.
C) In the front of the white pages. D) Right afier the white pages.
16. What are you advised 1o do when you get a wrong number in making a long distance call?
A) Check your number and call again. B) Ask the operator to make your distance call.
C) Tell the operator what has happened. D) Ask the operator what has happened.
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W: Frank, we’ ve got a problem. We don’t have enough money to pay the rent this month. I think I’ d hetter ask Mam and Dad for




a loan,or ask my boss for a raise.
M:Well. I don’t know. But maybe I' d better not take another English course this semester.
():What s the problem they are talking about?
A)Their parents cut hack the loan.
B)The woman doesn’ 1 want Frank to take another English course.
C)They can’t pay the rent this month.
D)The woman's hoss refused to give her a raise. )
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Section A
Directions :

In this section you will hear 10 shors conversations . At the end of each conversation, a question will be asked about what was
said . Both the conrersation and the question will be spoken only once . After each question there will be a pause . During the pause , you
nust read the four choices marked A), B), €) and DY, and decide which is the best answer . Then mark the corresponding letter on
the Answer Sheet with a single line through the centre .
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(AT IS S R — P MR, P RS A S, 161 17 20 SR A2
PATE Y4 i) A3 T B R X 4 SCHOREFE VR 8R o] ; BE 0T R 3 1 i) SR I) , the o] LA 4] F 4060, B (0 ] M iF° 4L )
HURT LUM R T 42 10] , w62 1] /) F 6 R LSS5 B2 15117) when, where , why , who, what F1 how %3] $:11,
ZHERS MR ERR

MITEARBH KT UB Y, XREEONEREEFEUT LD HE 1.0 TR (time and place) ;2. 3
RIFIFTHE (plan and arrangement ) : 3. W2 HIZS BF ( opinion and attitude ) ;4. B0F F1H B (number and calculations ) ;5. % i I
L Ctraffic and tools) ;6. HEMY #1853 ( occupation) ; 7. T 3K F1 & 1 (request and suggestion) ; 8, 5L B 144 3R (cause and re-
sult) ;9. FLECHAIRT H (comparison) F1 10. HEWT 54347 (inference and analysis) .

I . I B # it 23 (time and place)

FEX T AR e o ) R 5 B 5 T A R 2 KB LA SRR B A R T ¥ O A A 2 K B ]
REEEIN R BB W R B SR R AR B IR At 0, 3R 1 £ J7 7% £ B2 LA when (or at what time) #] where k5] 4%,

a. 0[]

ARG - R IR A B i B B R B ik . 0 three o clock. vesterday, last week, the year before, within a few
days (weeks, months, years) %5, 00(1997 £ 6 B EHH, % 1 )

W:Good morning. I'm here to see Mr Addison.

M:Mr. Addison went to Washington last Monday for a conference, and will be back on Thursday night . I you like, you may come
again on kriday moming.

Q:When will Mr. Addison return?

A)On Thursday night. B)On Monday night.

€)On Friday morming. D. On Thursday moming.

BRA AT AGAK SR EESHIRER, RREWHES T iEE, Mr. Addison went to Washington last

Monday for a conference. and will be back on Thursday night. B 3 5t 35 12 30 A: o 2B H R, C TR LA |-k

1}(3{:1{‘]%& bR IROR LS A e A AL, D IRBEA9 R On Thursday moming( & |- )i & On Thursday night(# |- ),

b.ith o

A S R G — A RN S A AR A W4 TR R &R, 10, at. in, on, by, beside, at the airport, in the room, at

home . on the desk, by the river %= H140(1993 4 6 J] B3, %5 6 51)

M:1"d like to make an appointment to see Dr. Smith tomorrow .

W:l'm sorry. Dr. Smith went on a week vacation in Mexico. and on his way back he’ 1l be staying in California for 5 days. [et me
~ee He 1l probably be back the day after tomorrow.
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Q:Where is Dr. Smith now?

A)In Mexico. B)In Califomia.

C.In the city. D.In New Mexico. o
BEN B, AEMRMRSER AT HER T OECHE, 2 —ERE, KEHLLBREN,
FEFRE: —FEHRA AR LHER, 5 — R A R Smith ﬁfﬁﬁﬂﬂﬂ?ﬁféﬂ?ﬁﬁ 5 R, K@t/
KRB X AEME LS Lo %4 B R X 3% o i th AR FE e IR 7E AR X , T A B AL »
2.1+ #0037 M (plan and armangement) )

BREYEERMAL LW S RHGERE ). BHAFEIESRABEROER KB BEFRIIK K
U b MRS, XXBHEARESRPBRAH, HIIN(1993 46 A .6 REAM. %62 H)

W:Let’s talk about the preparations for the party. ;

M:Right. We really need to plan better this time. Remember what a mess it was at the last party!

Q:What do we know about the last party?

A)t was pretty good. B)It was rather dull.

C)1t was not well organized. D)It was attended by many people.

ERRCT, ZR-MEHHVEIEHATOER, RESFHAFRHE EXRSHER . HPH -1 X821
mess X EHH —ERE, BEFAKBBERRENEER, ER confusion 5, disorder FI B, M T L HE K FEHE M what
a mess it was. . . FiAMIE It was niot well onganived, Yy XM LLHBARLY  X— KRN ZEiFmMUEE. 7
bh . mess £5 mass TER & b HCBEGE , BT UAS ARA R R DI,

3. 9 AR F75 K ( opinion and attitude) :

EXHEMOEEHS , AFKERBEEANERL R EEME L, XAR P KH AR R What do you

think of. . .?",“What does the man (or woman) mean...?”, “How about...?"% . #1(1996 4 6 H B, 10 &)

W:The strike at the port has held up our export oeders for two weeks. Do you think it will end soon?

M:So far as I know, the management side has made an improved pay offer but the union is holding out for its original demands.
Q:What does the man think of the strike?

At will last for two weeks. B)It has come to a halt.

C.It will end before long. D)1t will probably continue

ERNDI, AEBRFEREMEANBLMBERMFT IO NZE E—SHRE ., EXFERE—%. 8
ECMMHE R =502 —o REAFRERKBEREM. . .the union is holding out for its original demands. ( T&{312 ¥
A TBANEIER o) XI5 I E SMZ R The strike will probably continue. (2 T AT SEHFAkLE T %)

4. WF it X (number and caleulation)

BRBMEBRBRORARBFEBREH., VNI BRPHTHEM B R BER, HFEEEMM
BB VET E VR SRR AR IHRBE X, ERRARTPHSRENRN, NEECIIZENEE, B
ShEBEERE R AR, HIRZEN, MBS, ¢TI E , BB FILA:

a AR R FHEL ., AORTFRLIN, FHREN TR, FUERKGSIR S, BEE SRR
FHRHE, NEEBEMNZENMEIXER, ,

b. KR8 B AR AR AR T, L IHRLL (6] A teen tin] R A EIT MR, — DERE, HERHAE KT,

c. MR — 5 R RN R A BEANIC, AR HIEY, 0:a quarter, (92— ) , one-thirds( =4} —) , a half (—
) . three quarters(P1532 = ) , once, twice, double ( B3 ) , triple ( =& i), couple/pair( 3 ) , dozon(+ =), daily(— %),
weekly( 828 — 1K) , monthly (5§ F — WK # ), quarterdy( B FHE —K) , fortnight( + T4 K, ZEH) , overnight( — ¥ |- )%,
(1991 4 6 A HAE. 5 8 @)

M:1’d like to make two reservations on Flight 651 for June 8th.

W:I'm sorry,we’re booked up on the 8th. But we still have a few seats available on the 9th.

Q:When does the man want to leave?

A)On the 6th of June. B)On the 8th of June.

C)On the th of June. D)On the 19th of June. _
EREBY. AMERMASEN THERFANNAKATEMNES, IRER —ER A (B —FLL4 %
BT CHL B 13MALS T, X—HERERL H8%ES on the 9th of Tune ) F4E; 5 — 7 E A9 IR B i 214
RE LA 10 make two reservations on(HiT). .. (be) booked up( £FBIT5E) BT & X RBBIFZE

5. %% TR traffic and tools)

RRGHAH ROABTEECE.

a Tl LRAGERRE, G5 KE, CHL M, ME, KE S0 H M PHER ], BUEH R 5 (8%, AT it E,
RRRA U AR B SRR RN RIS, EX—XBEEPSHBEZIHAES, EXAERT,
Hef 15— 2 1) B 241 B 4 BESE — AN MUY < 300 FF M ] —— M58 B ] —— R B T 2
b. KT ZEANHZE TR K28

_XESSH ER AR o BT B 3 M 3R 0 X A 2208 A B 6 TR 5 B R U 2 A Y b AT S B
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KL GHER T EEHIEEAR GEREPH EFENE. W AEHL S, ﬁ%lﬂ]@ﬁﬁfﬁ% W
RMICFFEE G, R X2 5 R R B F RTEE N Z T 8, W0 : traffic jam(# %) . rush hour(’i‘“(ﬁh%ﬁ%j).
a heavy traffic( 3B MH ), a flat tire (AR T ), a traffic accident(GEH AL ) , air crash(Z3HE) , boarding card( BHLE),
arrival (B3] ), departure( B FFEF1] ) . behind the schedule(i% £0) %, H10(1996 4F | A KAE %5 2 ) _
M:T"m sorry. Madam. The plane is somewhat behind schedule. Take a seat. I’ ll inform you as soon as we know something definite..
W:Thank you.!'d rather look around and I'll be back in several minutes.

Q:What can be concluded about the plane?

A)The flight has been canceled. B)The plane is late.

C)The plane is on time. D)The tickets for this flight have been sold out.

BHEA B ABE R ERIRE, REYTH#T behind schedule(iR £ X — X BTIER ML L FHEE. Hipy

B AZEHEM K H AR R EER,

6. ER AV #0512 { occupation)

AR RIBIRE O h FIREAZ X R A F R A RES N EAER. A0SR ERE
HXAG B AT FIR SR A Z BB X TR MRS G  EPD SEERS AR AR X R b B F 38T
Ml B, BEMERARL S04 XORAMMERCEREER ., W a), % 8T+ 28600754 : pro-
fessor, graduates, tutor, tenn_paper, grade,, score , assignment , homework , scholarship, lecture %, b) , % B F % Nk 5 fii % = )
H11A]IEH : shop-assistant . customer , shopping(or go shopping ) , sale (on sale), sell out, department store, price. bargain, fashion
(fashionable) . cheap, expensive , receipt , supermarket, cash, check 2, <), ¥ F B4 #i9% AZ 18] 8917 4 : doctor, patient,
hospital , clinic, flu, cold, cough, headache , prescription, pill , medicine , dose, much better 2, d), 2 J F#E/. AT B AR
% Z AT A < postman, clerk, mail, postcard , draw on, bank, money order, telegram, stamp collection , check , loan , currency.,
credit, card %o ), M T RE RITRE B 5K 2 6 #1535 4 : hotel, restraurant, laundry , iron, memu, steak , ham, cof-
fee. fried eggs, roast, waitor , waitress, duck , orange juice, hamburger, beef, soup % . ), % FHUF THEA R 5T & = (5] f0ii]
iti 1 : porter. ticket, ook , booking office, flight, passport, the customs, visa, hoarding pess, arrival, departure %5 . g), FIFH & .
taxi, passenger . get on, get off, hired, for hire( % %), policeman, traffic, red light, drive through; drire through the red ligth( 5] £1
A1) . accident, legal , speeding, fired, parking, no parking( FHEfE %) | license %,

7. R 5 (request and suggestion) : )
'(Eii%f&iﬂﬁf’,iﬁiiﬁ}\ﬁ'ﬁ'%ﬁtﬂ~¢Eﬁ>ﬁiﬂéiﬁi,ﬁiﬁ%iﬁféffiﬁﬂﬂf’ﬁﬂﬂi@zo R RA
What does the man mean?

What are they arguing about?

How does the woman feel?

What did the man suggest?

What did the man advise the woman to do?

What does the man think of the plan?

Blan1996 4 1 A B % 2 )

W:What an accident! If you had been careful, things would not be as they are.

M: What do you mean, it was my fault? If it were, surely | would take all responsibility for it.

Q:What does the man mean?

A)He is not to blame. B)1t was his fault.

C)He will accept all responsiblity . D)He will be more careful next time.

BERIEAT, AEERELBERSHBIESWATHRERR, WEXC T, kAT R T AT iS5 A 3
41++++:surely 1 would take all the responsbiliy. 7T 5L IE B4 B AY 1 49 A LEIRIEM 8] If it were (my faul) s 40525 D, 4
I ERT - it was my fau]t,fﬂ&ﬁ&ﬁﬁ]%iﬁﬁwmmﬁﬁﬁﬁﬂ%’ﬂ? It was my fault? BER BN R
YR RASBOEE YA AW F R B RW B RE S . Rk D, sb IR A T o) B FLE & X,
P2k 55 S AA AT HR K T — U/ BV, B At B A AR A AL B 4 5o B 3
8. R EFE R (cause 1 result) 8

A% SRR BRI S T R A BRI, 45 ST, B 3 — A AR A, WA

Why can’t the man (woman)...?

What caused. . .7

What a reason. ..?

Why ddid. . .7
il an (1997 4 1 B AR 8 1)

W:Mr. Wilson, you said you saw the bus crash into the truck. Do you know what caused the accident?

M:1 saw a hoy riding his bicycle in the street. The bus driver tried to avoid hitting him. He made a sudden turn and lost control of

the bus.

Q:What caused the bus-driver to lose control of the bus?

A)He made a sudden tum. B)He drove the bus over a bicycle.

C)He tried 10 avoid hitting the truck. D) He was driving too fast.
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B A AR ER MM A, B RS B R0 T A LB KRB — 1A b
SRS, QRGE B IR C 30, AEAE A AN T X iE b B — SiR)iE (dn avoiding,hitting,bicycle,"t'}‘n—e tm(k —;‘j/w) IT
BOAE" BN 257X — B0 R, WRE D I, B A4 I 8 07 X E , M (OO FEH ML K iR
R FFE R, .
9. B3Nt b ( comparison) e
E%Xﬁﬁ%f‘ég?ﬁﬁﬁ@iﬂiﬁuiﬁﬁgwﬂﬂU%%‘Jo WM T RAEELZAIE N LEMES, HERE
B ELIE R AL, LB B R =MIER, BF — T HBIER, 10, would rather. . . than. .. ; had betters pre-
fer.. .to. .. ;like. . .more than. .. i superior to. . VB
Bl (1989 £F 1 A, B8, % 6 &)
W:Hi, Bill. Have you been playing much football lately?
M:1 play as often as 1 can get out of the classroom. And the game is my way to be somebody. It’s my life, you know?
Q: What does Bill tell the woman?
A)He has little chance to play football.
B)He often cuts classes to play football.
C)He’s looking for somebody to play the game with.
D)He loves playing football very much. )
BRAHEF D, WERERK, TEMRE EBBERERNES, EFEATEERAXLBOFR (s my
life. you know? (#RAEIE . RRBRAAGRF.) HEBL . RER WA, WX RBBER, 54, somebody iX B
R BEAL AL RESTRES N TRN, T HALE get out of the classroom SRR 08, i I
REtEE L HE LB R,
10. HE®F 5 43 #7 ( inference and analysis)
B—-XUOEH ERRRSRYERBIHENE, RRITE, L F X, BiES 0SSR TE R R, H,
34, e R TR IE A B S R YR AR s JRE RS R, K RNHEERE .
What can you leam from. . .?
What does the man/woman mean?
What is implied in. . .?
What can you infer from. .. ?
What can be concluded from. . .?
Bilin (1990 4% 1| A HE, 5 2 )
M:Now, I"m going to start off by asking you a difficult question. Why would you like to get this post?
W:Well—first of all I know that your firm has a very good reputation. Then I’ ve heard you offer good opportunities for promotion
for the right person.
Q:What do we know from this conversation?
A)The woman is being interviewed by reporter.
B)The woman is asking for promotion.
C)The woman is applying for a job.
D)The woman is being given an examination.
BRA CHL, BEH — &0, BR A E T A S A IR O 3 E 0 1, M AR Why would you
like to get this post? (?Efjvf‘f‘ﬁxﬁi%*ﬁ/l\mﬁ?)EIUﬂWiXE“‘(K*ERmﬁ(ajob interview) , F35h, M e -4 3E
PR DA R R BB AR B N E S, T C AR RS EE, HIERER. BRMED, Lz
Then I’ ve heard you often offer good opportunities for promotion for the right person. (iR B2 BIXT A3 Y A 42 ER i ok e
gfﬁlé}) IXHFARRE L L BRIRA L B IIREH, A)TRB RS, MRS E, D) BB E LT, NiR
R ‘

C AXBARBANSHN

| EXASHEEERNSA
Section B
Directions: In this section . you will hear 3 short passages . Al the end of each passage , you will hear some questions . Both the pas-
suge and the questions will be spoken only once. Afier you hear a question , you must choose the best answer Jiom the four choices
. marked A),B), C) and D). Then mark the corresponding letter on the Answer Sheet with a single line through the centre . ( 1£3X &
SHR IR0 3 R BRI 2T Bt 2, FOXCHREE R R 8, ORI , b
MAHH A),B),OF D)Bﬁlm/l\iﬁﬁﬁ\*ﬂiﬂjEﬁ%*i&féﬁ%@‘ﬁbb&*ﬂ%%?ﬂ“Pfélﬁ'J-ﬁ%)o FXHEHMLL,
iﬁi‘ﬁﬁﬁfﬁg*ﬁxﬂ'ﬁi—{ﬂ?,Eﬁﬁiﬁfﬁ%%ﬁ%%tmﬁﬁiﬂﬁ§,ﬁﬁﬂﬂﬂﬁ.ﬂi‘ﬁﬁf'ié,ﬁfﬁg,ﬂﬁﬁiﬁiﬁ‘
SR ENEES N EEREE, REBIY5 RAFF SRIEA ROETRIN B — R RIS — A WS 1|
SEH A BRI BRI AT, L BT R ST R B AT LT, o FHXE—ENKE, 05K
TEAR IR 18] B AT AL R AR i 1 SRR EAYLIT R, RN S R EEENRIT T K, RIG 776 B
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B, LA [l 5 Tl B T AT - e
® BB A ES SR, A ADED. U BF RRES KF MR Rl e B L
HeriEk EE RS HICURRBORA AU W TGRS,

2 EXHaHES RN

1) BRI X P B , R

AR P, B E A EERR R AL TS, RS RE B RS, W
SR EAR K R B)E A IR, BB, B A R AR B TR R 1 B M LR E)IE . T MR BRI $ME
BNFHERGE. dTEXATHRERE—&,BERE LT 2 A7 B RN 25 A8, X S 557
AR XA E A KA T R A ] R — S B EE R, — MO0, 6] R AR 4 4 S A AR
Py SR IR , SBUBIEN T LA e B T A LR 0 07 A1 B 0 3R, SRR B e 1 1 550 8040 2 0 45 e T A8 KR W BV e 3
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Everywhere we look we see Americans running. The run for every reason anybody could think of. They run for health, for
beauty, to lose weight, to feel fit and because it’s the thing they love to do. Every year, for example. thousands upon thousands of
people run in one race, the Boston Marathon, the best known long distance race in the United States. In recent years. there have
been 5,000 official competitors and it takes three whole minutes for the crowd of runncrs just to cross the starting line. You may
have heard the story of the Greek runner Pheidippides. He ran from Marathon to Athens to deliver the news of the great victory
2,500 years agao. No one knows how long it took to run the distance. But the story tells us that he died of the effort. Today no one
will die in a Marathon race. But the effort is still enormous.Someone does come in first in this tiring foot race. But at the finish line
we see what this race is about: not being first but finishing. The real victory is not over one’ s fellow runners but over one’s own
body.It’s a victory of will-power over fatigue. In the Boston Marathon, each person who crosses that finish line is a winner.

14, What s the real victory for the thousands of Marathon runners?

A)The viclory over one’s fellow runners. B)The victory over former winners.

C)The victory of will-power over fatigue . D)The victory of one’s physical strength.
15.Who is a winner in the competition?

A)The runner who runs to keep fit. B)The runner who breaks the record.

C)The runner who does not bresk the rules. D)The runner who covers the whole distance.
16. What happened to the ancient Greek runner Pheidippides?

A)He won the first prize. B)He died because of fatigue

C)He fell behind the other runners. D)He gave up because he was tired.
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Movies are the most popular form of entertainment for million of Americans. They go to the movies to escape their normal ev-
eryday existence and to experience a life more exciting than their own. They may choose to see a particular film because they like
the actors or because they’ ve heard the film has a good story. But the main reason why people go to the movies is to escape. Sitting
in a dark theater, watching the images on the screen, they enter another world that is very real to them. They become involved in the
lives of the characters in the movie,and for two hours, they forget all about their own problems . They are in a dream world where
things often appear to be more romantic and beautiful than in real life. The biggset “dream factories” are in Hollywood, the capital
of the film industry. Each year, Hollywood studios make hundreds of movies that are shown all over the world.

American movies are popular because they tell interesting stories and they are well - made. They provide the public with hero-
es who do things the average person would like to do but often can’t. People have to cope with many problems and frustrations in
real life, so they feel encouraged when they see the “good guys” win in the movies.

Questions 14 to 16 are based on the passage you have just heard.

14, What s the main reason for Americans to go to the movies?
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A) To enjoy a good story. * B) To experience an exciting life.
C) To see the actors and actresses., D) To escape their everyday life.
15. How do people usually respond when they are watching movies?
A) They feel that everything on the screen is familiar to them.
B) They are touched by the life — stories of the actors and actresses.
C) They try to tumn their dreams into reality.
D) They become so involved that they forget their own problems.
16. Why are American movies so popular?
A) Because they are well - made and the stories are interesting.
B) Because the heroes have to cope with many problems and frustrations.
C) Because the characters in the movies are free to do whatever they like.
D) Because good guys in the movies always win in the end.
A
14. What’ s the main resson for Americans to go to movies? (D)

RISk —miGst R £, REMHE G FRMBLEHARBANER. AMRXRAARTHENE
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15. How do pecple usually respond when they are watching movies? (D) o

A BMREMABHAR T OR A, FRANTE YK 24 FFP B, 315 A B2 : They become
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16. Why are American movies so popular? (A) -
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In the early days of the railroads, horses pulled the trains. The trains had no power of their own. Richard Trevithik of England
invented a steam ~ powered engine in 1804. Soon people were building railroads and steam engines all over the world. Because the
steam engines did the work that animals used to do, people called them“iron horses.”

Peter Cooper was a rich American businessman. He owned a lot of land near the Baltimore and Ohio Railroad. He . wanted the
railroad to be successful. He built his own steam engine to drive along the railroad.

Most people traveled in coaches drawn by horses. A coach line challenged Peter Cooper to a race.

The day of the race came. At first the horse was winning the race . Peter Cooper’ s engine needed time to build up steam, He
worked hard to make the train go faster. Soon he was catching up with the horse. He was going to win the race! Suddenly one of
the parts of the engine broke. The train stopped. The horse rushed shead. Peter Cooper lost the race.

Of course, theat is not the end of the story. By 1870, railroads extended all across the United States. The "iron horse” had be-
come an important part of American life. ‘ . .
Questions 11 to 13 are based on the passage you have just heard .

1. Why did people call steam engines “iron horses”? :
A) Because they were driven engines iron horses?
B) Because they dlid the work that animals used to do.
C) Because they pulled cars full of coal.
D) Because they were made of iron.
12. Why did Peter Cooper build his own steam engine?
A) He wanted the railroad to be successful.
B) He wanted o have a more powerful steam engine.
C) He wanted to own the land near the railroad.



D) He wanted to build his own railroads.

13. Why did Peter Conper lose the race?
A) Because the train could not nun as fast as the horse.
B) Because the engine failed to build up steam.
C) Because the engine broke down and the train stopped.
D) Because th engine broke into several parts.

o AT

11. Why did people call steam engines “iron horses”? (B)

KA E HEANEL R A, TR AEHE - PaY 8 E AT K- EEFEREES T EH
AR B I SO B 5648 43] 4] : Because the steam engine did the work that animals used 10 do. people called them'iron
horses”™ . (P4 RZEMH AL 0T LA Tt & AT R078 BT LA AN HE X L8 L 8 57, )

12. Why did Peter Cooper build his own steam engine? (A)

FMERF L E WA F 2 M X E. : He wanted the railroad to be successful 1 He built his own steam en-
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13. Why did Peter Cooper lose race? (C)
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Part [ Reading Comprehension
Directions: There are 4 reading passges in this part . Each passage is followed by some questions or unfinished statements . For each
of them there are four choices marked A) , B) , C) and D) . You should decide on the best choice and mark the corresponding letter on
the Answer Sheet with a single line through the centre .
Questions 21 to 25 are based on the following passage:
21.The author is primarily addressing .
A)parents of teenagers B)newspaper readers
C)those who give advice to teenagers D)teenagers
22 .The first paragraph is mainly about .
A)the teenagers’ criticism of their parents
B) misunderstandings hetween teenagers and their parents
C)the dominance of the parents over their children
D)the teanagers’ ability to deal with crises
23. Teenagers tend to have strange clothes and hair styles because they .
A)want to show their existene by creating a culture of their own
B)have a strong désire 1o be leaders in style and taste
C)have no other way 1o enjoy themselves better
D)want to imitate their parents
24 . Teenagers do not want their parents to approve of whatever they do because they .
Ahave already been accepted into adult world
B)feel that they are superior in a small way to the adults
C)are not likely to win over the adults
D)have a desire to be independent
25.To improve parent-child relationships, teenagers are advised to be .
A)obedent B)responsible
C) co-operative D)independent
2. &) %3 [5} % 1 ( Short Answer Questions)

GRARR BT LR BN —F EMEE, MEX LA BRI WAL . BT IR EREAEREH
FERGES FTUMBSE-BREHERS - L, BAERMT (L1997 5 6 BAREENH)

Directions: In this part there is a short passage with five questions or incomplete statements . Read the passage carefilly . Then answer
the questions or complete the siatemenis in the fewest possible words ( not exceeding 10 words) .

I once knew a dog named Newton who had a unique sense of humour. Whenever I tossed out a Frishee( & B ) for him to
chase, he” d take off in hot pursuit but then seem to lose track of it. Moving back and forth only a yard or two from the toy, Newton
would look ail around, even up into the trees. He seemed genuinely puzzled. Finally, 1’ d give up and head into the field to help him
out. But no sooner would I get within 10 ft. of him than he would run invariably straight over to the Frishee, grab it and start running
like mad, looking over his shoulder with what looked suspiciously like a grin.

Just about every pet owner has a story like this and is eager to share it with anyone wha will listen. On very short notice , TIME
reporters came up with 25 stories about what each is convinced is the smartest pet in the world. Among them: the cat who closes the
door behind him when he goes into the bathroom; the cat who uses a toilet instead of a little box. . . and flushes it afterward; the dog
who goes wild when he sees his owner putting on blue jeans instead of a dress because jeans mean it is time to play; and the cat
who used to wait patiently at the bus stop every day for a little girl, then walk her the six blocks home. And so on.

These behavours are certainly clever, but what do they mean? Was Newton really deceiving? Can a cat really desire privacy
in the toilet? In short,do household pets really have a mental and emotional life? Their owners think so, but until recently , animal-
behavior experts would have gone mad on hearing such a question. The worst sin in their moral vocabulary was anthropomorphism
(LA AE) , projecting human traits onto animals. A dog or a cat might behave as if it were angry, lonely, sad, happy or confused,
but that was only in the eye of the viewer. What was going on, they insisted, was that the dog or cat had been conditioned, through
a perhaps unintentional series of punishments and rewards, to behave a certain way . The behaviour was a mechanical result of the
tramning .

Questions: (P30 AR REIME, B 10 MARMY, BARRE — P EERE FSTSR546,)

el



~iWhat did Newton seent puzzled about?

S2.Why does the author ~ay Newton had unique sense of humour”?

3. What made it possible for the TIME reporters to come up with so many interesting stories about pets?

4. What belief about pet behaviour was unacceptable to experts of animal belaviour?

35. What was the explanation of animal-behaviour capxets for the “clever” behaviour of pets?

BE

St Not knowing the Frisbee’ s track.

52. Because Newton intended to deceive him.

S3.That the owners want others to share their stories.

4. That animals have a mental and emotional life.

S5. Mechanical result of training.

{F « U IBURE F E 5 o AU 45 5] B8 B read between the Tines 7 LE YO R B write between the lines. 75 %, 8 0] % J7)
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1. The major advantage of. . . is .
2. A characteristic of the information age is that .
3.The word “liability” (Para.l,Line 4) most probably means .
4. The reduction of the possible hazards in food ultimately depends on ____
5. According to the passage, when and where. . . ?

2 MR BIRIBAITIE AR RPN T, Bl 5 F 48 B AUCE S 028 . BN (1993 4E 6 J] IR IR i
PR 37 8):
37.To “live a completely sedentary life-style”( Line 7, Para 1) in the passage means

Adto “live an inactive life” B)to “live a decent life”

C)to “live a life with complete freedom”

D)to “live a life of vice”
4‘@%&%%@%.1:1‘—1%%“/l\lﬁjgﬁﬁfg%ﬁﬁﬁ o to live a completely sedentary life-style 135k F B4 sedentary —
R BT, AR b F XU sedentary (937 SLBRAT T . 3% —ial#H Y |- SCIRE A L AR AT R, Fk 77 AT
[l SEERE (If we so desire, we can...)" S TFRIIRE TS fF4: 12 o smoke) ", AR (drink excessively)”, =% &
“OF 4R R R L2 (refuse to wear seat belts)” PORERERZ A 2 8807 41 20 Ceat whatever foods we want)” H R live a
completely sedentary life-style”, ©IEFIXAG 4 (4630 50 2 ELIKAY TRy 448 i P 4RI EES b B 4
HHEERNAH A B i R TEBN RIS ", SCEHE 10 live a completely sedentary life-style /5 1 B 45 69 2 without any
exercise (A& 5, IR . BILATH A FIRIEBE K. (556 % it eb S0 0000 & 39% i % R Rk 17 C
(i%;ﬁ% B B4R ). SRR T4 NLERE L F Okmy— AN]SR B o 4 4 B
Mg, .

SREBHLSSBRNEFHGHTES, Him.

One of the greatest mysteries of the world, for which scientists have heen unable 1o find any satisfactory explanation, is the
Bermuda Triangle, some: times called “The Graveyard of the Ataluntic. "This is an area of the western Atlantic between Bermuda
and Florida, roughty trangular in shape, where since 1945 at least a hundred ships and planes and over a thousund people have dis-
appeared. No wreckage has been found, no bodies, lifebelts or any other evidence of disaster. It is as if these planes. ships and peo-




ple had never existed .
What is the most puzzling feature of the incidents that have occumred in the Bermuda Triangle area?
A)The unexplained wreckage found in the area.
B)The lack of evidence of disaster.
C)The appearance of the wreckage.
D) The disastrous loses in the area.

EEEVERIIAE, S REREXBEGRBIRM, A T2/EMIEH P, BT ERESHAMA
ERH KL RS ATTRABUEMRS, BN ME TR AR A B (TRGER X E R4 QIEE I HRLRFS
LERBE, KRB AMTANKHRTE, ERXHARMACISB RS, Hit DA REREER.

4 BT WF I NHIT R R RRER SR LM P RR AR, LRSS ENRFEAHR, 7
M RE W RBIFERYETHER, 10 quarter (1/4) , half(1/2) , score (20), decade (10,10 3E), century (100 4,
— P itt42) , bicentenary(200 4F , 200 FA4E4E &) , millennium( 1000 4F, 1000 £ 2.8) . FHRFALH RFIB/ K HAR /)
R, BREEEXHPANT R, B LR F OB H b2 BT P o33 R it
BBFA—BEIEE, AT EL L REA AR —B o B 55 30F i B4 5K 3 (F) , 26 169 b it 30 A9 )
REBREE. AXHERT ARELTRN. X, X HBRGRBENER, THH P E R R ER
BRA R, X WRGETHRE :

ERZRERY RBAMTER BERXHERLRRL, LAEALRFERE. Pin:

The report, prepared with the help of 200 doctors,, nutritionists and researchers, is the most comprehensive govemnmental review
of the connection between diet and health. Though little in it is really new, its very heft is impressive . Diet, the report states, helped
account for more than two-thirds of the 2. 1 million deaths in the U.S. last year. Poor nutritional habits are strongly implicated in
five of the nation’ s top ten killers: coronary heart, stroke, atherosclerosis, disbetes and some cancers. Excessive alcohol use is
linked to three other leading causes of death: cirrhosis of the liver, accidents and suicide.

From the passage we can learn that .

A)most of the Americans who died last year had a gool nutritional habit

B) poor nutritional habits led to over 1.4 million deaths in America last year

C)suicide is the highest killer in American society

D) neither poor nutritional habits nor excessive alcohol use is harmful to our health
ENETF, A B RBTHF, MAAXETUH B THENNT ., EXMER TR BT amss,
WL, T EROOG. TN 2.1 milion M52 B0 1.4 milon B2 B IERIZ M, B
REBER,

. EEEOE :

LEBMGEER, TERSLMEP.CEBEEE, RAXEESEXN X ENERBEN. SENNAQE
EEOEHERN, BEEER, 2 XREES, RHEREREN SRR ERROMRT, 0 080 E S 0N R
BT BB RERL, R E o, A LR B RRR R S BAY  0 B AR , A B VSR %t A BT 43 S 1 A
PR — BRI R NGRE, TERE S MRER A LR .

1. Which of the following best expresses the main idea of the passage?

2. According to the passage what is the best for...?

3.The major point discussed in the passage is .

4. What"s the main topic of the passage?
5.The author’s purpose in writing this passage is to .

6. The passage tells us .

7. Which of the following statements does the writer support?

8. What is the passage mainly about?

LEMAMRER, NEN LA ETEORBMNE, FENEY HAARE T LRLE R (HOaH &
FEXER G, SRUERIG, A RS L REREPE, XS MOFRERT L@, LERH T 6
A BRI T . SBEN LR, B XA LB R B LR T, H1A0 (1997 4 1 J]
ANHK Pant m,Passage 3,3580); ’
35.What is the passage mainly about?

A)Dressing for effect. B)How to dress appropriately.

C)Managerial positions and clothing. D) Dressing for the occasion.
AREER XENFORR, BRXEREITEKRERN, B RS RA R MRS EEE (B T} s R
BB TIHE AT E TN ANTRRE (C ) ; ERRKIEKH AR (D)., R AT -FEHSBAKLMDPR,
RABEERER, FRXEGENBANE— A FHE LM, BBt TR Clothes play a critical part
in the conclusions we veach by providing clues to who people are, , who they are not, and who they would like to be. ( A 1# 45 %5
EARNTHH— N AN REEEER). HE_BRH EBAH]E Since clothes are such an important source of social informa-
tion, we can use them to manipulate impression of us. (EE)@%%‘EEQQH%%EB‘JE?*Wﬁ“ﬂ]iﬁiﬁ%ﬂfﬁﬁﬁ*ﬁﬁ
WA H Eﬁ‘]ﬁnﬁo)%:{’ﬂ(%:{&ﬁ/ﬂ):f’@k tend fo agree on what certain types of clothes mean. ( X 3 4 i 4fii %




At 4, AT BEEEER—BH ) 8B 04 (3B B 8 4]): In the workplace, men have long had well-defined precedents
and role models for achieving success. (£ TYESFT , B A R MA BIB0Y L B RIS B A R AR . ) BLAE E¢Ig/ﬂﬁf
ERE AR EARE XN AR  RENERE A SANBRRAMNNKENHKFARE WTFES
AR, .
= &itEd
SRR AR, 3 B R A B E A UREXN LT XA RN R EEEM R B RN
B A B T N, HEBR ]S Rl B A R R "
AR, HERAREENCPREN, MEREE L7 IREF MR L, 588 FROERL, #17
- SERRIRTRE SR NI AR, HaBRAR:
(DIt can be inferred from the passage that .
(21t is implied but not clearly stated that .
(3 The author implies that
{DIt can be concluded that .
&The author suggests that
(G According to the author, the greatest. . . was that .
@DWhich of the following best illustrates .
®What can you infer from the passage?
2 HEREE, \TEITRKSAEEHBERENEE, BIU0:(1997 4F 1 A% Pat 11 , Passage 4,39 )
39.The author is of the opinion that Coleman’s beliefs are . .
A)biased B) popular
C)insightful D) superficial
SR AR, BR B A S B SS F ¥ Coleman’ s WA, 3F 1F B8 3t 7 7 Hs #E 5 X Coleman (U &5 3% % fa] i
Tk WG BN 2B Coleman HIMRAEF AT the novel views of 895 , novel £ F I MR, BREE N . 65
CEOPSR EHREE TRUREMMARTERE, M S B AR A HEM BEESHATZARAIRRE W&
Ji S IRIRI - 5E (the scales have dropped from their eyes) , ¥ 7 Z4E % o F 8] (A 151, o] WALR B 4905 (L2
LY i HLAE R R BT+ 58, TR A AR M, CTRERARE, Rk B D #9542 5 51 b
W0 AT AR A S AR, A I insightful RIBRYI R,
}.EREE, X RERN -BHSXAENSERAN, ¥ RTINS .
1.1t can be concluded from the passage that
2. What conclusion can we draw from the passage?
3.The passage is mainly about
4. What can you leam from the passage?
14101997 £ 1 F] X%t . Part ], Passage 1,21 &)
21.1t can be concluded from the passage that .
AJit is still impossible to detect computer crimes today

B)computer crimes are the most serious problems in the operation of financial institutions
C)computer criminals can escape punishment because they can’t be detected
D) people commit computer crimes at the request of their company
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right angle is an angle of 90 degree formed by two lines perpendicular to each other. ( d]ﬁi%*ﬁiiﬁ?,% */A]BEB(J%?H 90, ﬁﬁ?)
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Although T did not completely approve of the idea, | sanctioned it for I could not think of a better one. (B4R ,‘&ﬁ*%ﬁﬁ
B LRI IR ILEUA ) /B A3, X1k S0 4 BUALR approve 1% — 841, {EAF sanc-
tion AN — i TRZAE . HIM 3L X B 4] T A9 3R . R 295 1 sanction TEAHHIEE T, BIH approve A X, 3 7 “[H]
BT R EL.

3RMFSECE AW A AT LG A DRI SRR FIRIEEX N AN EES L, SRR
Y SEBRIA], 20 but, unlike , while, although , however, not , rather than, nevertheless, on the contrary 2R 8, T R X 3 LI HE
BT . .

The sea lion is a cumbersome animal on land, but in water it is ane of the most graceful. (W7 i B — R0 3Y),
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After a day”s hunting, Harold is ravenous. Yesterday, for example, he ate two bowls of soup, salad, a large chiken, and a piece
of chocolate cake before he was finally satisfied. (£843f — K FF5E , va B MERIR T - %ﬁﬂﬂ?f,f&ﬁ"ﬁ?mﬁﬁ?ﬁ,ﬁ?
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1. Which of the following statements is NOT frue according to the passage?
2.The author mentioned all of the following EXCEPT ___

3. Which of the follwoing is NOT included in the passage’
4. Which of the following is NOT listed as a reason for. ..?
5. Which of the following is NOT expressed in the passage?
6. Which of the following will NOT he suitable to deseribe. . .7 '
2EAHER A AT B DU I RN X B RATIREE ., #140(1990 4 1 A A%, Pant 11 , Passage 4,40 /) ;
40. Which of the following statements is NOT TRUE?
A)Body temperature may serve as an indication of a worker’s performance.
B)The selection of a number of permanent night shift workers has proved to be the best solution to problems of the round-the-
clock working system.
C)Taking body temperature at regular intervals can show how a person adapts to the changes of routine.
D) Disturbed sleep occurs less frequently among those on permanent night or day shifts.
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Part [I Reading Comprehension (35 minutes)
Directions: There are 4 reading passages in this part . Each passage is followed by some questions or unfinished statements . For each
of them there are four choices marked AY , B) , C) and D) . You should decide on the best choice and marlk the corresponding letter on
the Answer Sheet with a single line through the centre . .
QlwstimslltolSarebasedonthefollowingpassage; it

Birds that are literaly half-asleep — with one brain hemisphere alert and the other sleeping—control which side of the brain re-
mains awake. according to a new study of sleeping ducks. ‘

Earlier studies have documented half-brain sleep in a wide range of birds. The brain hemispheres take tumns sinking into the
sleep stage characterized by <low brain waves. The eye controlled by the sleeping hemisphere keeps shut, while the wakeful
hemiphere s eye stays open and alert. Birds also can sleep with both hemispheres resting at once.



Decades of studies of bird flocks led researchers to predict extra alertness in the more vulnerable, end-of-the-row sleepers.
Sure enough. the end hirds tended to watch carefully on the side away from their companions. Ducks in the inner spots showed no
preference for gaze directions.

Also, birds dozing( T Bl ) at the end of the line resorted to single-hemisphere sleep. rather than total relaxation, more often
than inner ducks did. Rotating 16 birds through the positions in a four-duck row, the researchers found outer birds half-asleep dur-
ing some 32 percent of dozing time versus about 12 percent for birds in internal spots.

“We believe this is the first evidence for an animal behaviorally controlling sleep and wakefulness simultaneously in different
tegions of the brain, "the researchers say.

The: vesults provide the best evidence for a long-standing supposition that single-hemisphere sleep evolved as creatures scanned
for enemies. The preference for opening an eye on the lookout side could be widespread, he predicts. He’ s seen it in a pair of birds
dozing side-hy-side in the 700 and in a single pet bird sleeping by mirror. The mirror-side eye closed as if the reflection were a
companion and the other eve stayed open.

Useful as half-sleeping might be.it’s only been found in birds and such water mammals("FL 304 ) as dolphins . whales, and
seals. Perhaps keeping one side of the brain awake allows a sleeping animal to surface occasionally to avoid drowning.

Studies of birds may offer unique insights into sleep. Jerome M. Siegel of the UCLA says he wonders if birds’ half-brain sleep
“is just the tip of the iceberg(7K11)™ . He speculates that more examples may turn up when we take a closer look at other species.
11, A new ~tudy on birds’ sleep has revealed that _

A)half-brain sleep is found in a wide variety of birds

B)half-brain sleep is characterized by slow brain waves

C)birds can controb their half-brain sleep consciously

D)birds seldom sleep with the whole of their brain at rest
12. According to the passage  binds ofien half sleep because

A)they have to watch out for possible attacks

B)their brain hemispheres take turns to rest

Cthe two halves of their brain are differently structured

D)they have to constantly keep an eye on their companions
13.The example of a hird sleeping in front of a mirror indicates that

Athe phenomenon of birds dozing in pairs is widespread

B)birds prefer to sleep in pairs for the sake of security

C)even an imagined companion gives the bird a sense of security

D)a single pet bird enjoys seeing its own reflection in the mirror
14. While sleeping, somewater mammals tend to keep half awake in orderto
Adalert themselves to the approaching enemy
B)emerge from water now and then to breathe
C)be sensitive to the ever-changing environment
DYavoid being swept away by rapid currents
15. By “just the tip of the iceberg” (Line 2,Para. 8) »Siegel suggests that .
A)half-brain sleep has something to do with icy weather
BYthe mystery of half-brain sleep is close to being solved
C)most birds living in cold regions tend to be half sleepers
D) half-brain sleep is a phenomenon that could exist among other species
Questions 16 to 20 are based on the following passage:

A nine-vear-old schoolgirl single-handedly cooks up a science-fair experiment that ends up debunking( & -+ HIEAH )«
widely practiced medical treatment. Emily Rosa’ s target was a practice known as therapeutic( 387 8 ) touch { TT for short) , whose
advocates manipulate patients’ “energy field” to make them feel better and even, say some, to cure them of various ills. Yel
Emily’ s test shows that these energy fields can’t be detected, even by trained TT practitioners(7B&# ) . Obviously mindful of the
publicity value of the situation, Journal editor George Lundberg appeared on TV to declare, “ Age does’t matter. It ' s good science
that matters, and this is good science.”

Emily s mother Linda Rosa.a registered nurse, has been campaigning against TT for nearly a decade . Linda first thought about
TT in the late” 80s, when she leamed it was on the approved list for continuing nursing education in Colorado. Its 100,000 trained
practitioners (48,000 in the 17.S.) don’t even touch their patients. Instead, they waved their hands a few inches from the patient’
s body , pushing energy fields around until they’re in “balance.”TT advocates say these manipulations can help heal wounds. re-
lieve pain and reduce fever. The claims are taken seriously enough that TT therapists are frequently hired by leading hospitals, at np
to $ 70 an hour. to smooth patient’s energy , sometimes during surgery,

Yet Rosa could not find any evidence that it works. To provide such proof, TT therapists would have to sit down for indepen-
dent testing—something they haven’t been eager to do, even though James Randi has offered more than $ 1 million to anvone who
can demonstrate the existence of & human energy field. (He' s had one taker so far. She failed. )A skeptic might conclude that TT



practitioners are afraid to lay their beliefs on the line. But who could tum down an innocent fourth-grader? Says Emily: “1 think
they didn’t take me very seriously because I'm a kid.” o

The experiment was straightforward: 21 ‘TT therapists stuck their hands, palms up, through a screen. Emily held her own hand
over one of theirs—left or right—and the practitioners had to say which hand it was. When the results were recorded, they’ d done
no better than they would have by simply guessing. If there was an energy field, they couldn’t feel it.

16. Which of the following is evidence that TT is widely practiced?
A)TT has been in existence for decades .
B)Many patients were cured by therapeutic touch.
C)TT therapists are often employed by leading hospitals.
D)More than 100,000 people are undergoing TT treatment.
17. Very few TT practitioners responded to the $ 1 million offer because
A)they didn’ 1 take the offer seriously
B)they didn’t want to risk their career
C)they were unwilling to reveal their secret
D)they thought it was not in line with their practice
18.The purpose of Emily Rosa’s experiment was
A)to see why TT could work the way it did
B)to find cut how TT cured patients’ illnesses
C)to test whether she could sense the human energy feld
D)to test whether a human energy field really existed
19. Why did some TT practitioners agree to be the subjects of Emily’s experiment?
At involved nothing more than mere guessing.
B)They thought it was going to be a lot of fun.
C)1t was more straightforward than other experiments.
D)They sensed no ham in a little girl"s experiment.
20. What can we learn from the passage?
A)Some widely accepted belielfs can be deceiving.
B)Solid evidence weighs more than pure theories.
C)Little children can be as clever as trained TT practitioners .
D)The principle of TT is too profound to understand. '
Questions 21 to 25 are based on the following passage

What might driving on an aulomated highway be like? The answer depends on what kind of system is ultimately adopted . Two
distince types are on the drawing board. The first is a special-purose lane system,in which certain lanes are reserved for automated
vehicles. The second is a mixed traffic system: fully automated vehicles would share the road with partially automated or manually
driven cars. A special - prupose lane system would require more extensive physical modifications to existing highways, but it prom-
ises the greatest gains in freeway (J 332> 2% ) capacity .

Under either scheme,the driver would specify the desired destination, fumishing this infomation 1o a computer in the car at the
beginning of the trip or perhaps just before reaching the automated highway . If a mixed traffic system was in place, automated driv-
ing could begin whenever the driver was on suitably equipped roads. If special-purpose lanes were available, the car could enter
them and join existing traffic in two different ways. One method would use a special onramp( A H15|3&) . As the driver approached
the point of entry for the highway, devices installed on the roadside would electronically check the vehicle to determine its destina-
tion and to ascertain that it had the proper automation equipment in good working order. Assuming it passed such tests, the driver
would then be guided through a gate and toward an automated lane. In this case, the transition from manual to antomated control
would take place on the entrance ramp. An alternative technique could employ conventional lanes, which would be shared by auto-
mated and regular vehicles. The driver would. steer onto the highway and move in normal fashion to a “transition” lane. The vehicle
would then shift under computer control onto a lane reserved for automated traffic. (The limitation of these lanes to automated traffic
would, presumably, be well respected, because all trespassers( 3E 3% i A 4 ) could he swiftly identified by authorities. )

Either approach to joining a lane of automated traffic would harmonize the movement of newly entering vehicles with those al-
ready traveling. Automatic control here should allow for smooth merging, without the usual uncertainties and potential for accidents.
And once a vehicle had sétiled into automated travel, the driver would be free to release the wheel, open the moming paper or just
relax.

21. We learn from the first paragraph that two systems of automated highways .
A)are being planned - B)are being modified
C)are now in wide use D)are under construction
22. A special-purpose lane system is probably advantageous in that
A)it would require only minor changes to existing highways
B)it would achieve the greatest highway traffic efficiency
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